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QUESTION 1

An administrator runs a nightly compares on a versioned geodatabase. In the morning the administrator
checks the compares _ log and sees it is successful, but the number of state did NOT decrease. All users
are working on the DEFAULT version an tend to run geoproccessing tools overnight.

Why is the compress NOT removing any state?

A. The connected map sessions are locking state.

B. The connected map sessions are locking the compress_log

C. The administrator needs INSERT and DELETE permission on the compress_log

D. The administration needs INSERT, UPDATE and DELETE permission on the state table.

Correct Answer: C

QUESTION 2

How can a one-way parent-to-child replica be set top minimize the impact on the workflow in the parent geodatabase?
A. Use the simple replica access type

B. Do NOT register the parent as versioned.

C. Do NOT register the child as versioned.

D. Use archiving to track changes.

Correct Answer: A

QUESTION 3

Different layers needs to be seen when zooming in and out of a map. Which layer properly should be used to optimize
performance?

A. Symbology

B. Definition

C. Transparency

D. Scale deopendency

Correct Answer: A
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QUESTION 4

An enterprise geodatabase administrator needs to enable filed workers to check out and edit versioned featured that
participate in a topology. The filed edits will be performed on laptop computers using ArcGis Desktop with a Basic
license. Which technology should the administrator recommend to store data on the filed workers; laptops?

A. Workergroup geodatabase

B. PosgresSQL databaase

C. File geodataase

D. SQLite database

Correct Answer: C

QUESTION 5

Which reconcile option is recommended to identify when a second user edits a different attribute of the same record?
A. In favor of Target version

B. In favor of Edit version

C. By row

D. By column

Correct Answer: A
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